Va2 =4 4 o, a 9] & oot




ul@she 7S et

W Ao

—

It

= © (V19— VI1)? - (V17 - V13)?

=© (19-2+v209 + 11) - (17 - 2221 + 13)
=@ -2v209-2v221 <0

@ .. A<B

[
=

>
> EE. @

~&B

A= +V19- VII,B= VI7- VI3

A, B &= ¥FolB=2 42 > b2 o|H a > b O[T}
A2 - B2

= (V19— V11)? - (V17 - V13)?

= (19-2+209 + 11) — (17 - 2221 + 13)
=-2+209+2v221 >0

.. A>B




&% V5 9 VIO Alole] S el

@*/sz/ﬁ ® 4

2‘/3:@, ‘/S< \/g_gm<m




4. Vi2x VI8x V75 =aV2 ¥ W, a 9] 3-2?

O 12 @ 15 ® 30 @90 ® 120

B

V12 x VI8 x V75
= V22x3x V3Zx2x V52 x 3

=2V3x3V2x53
=10x3x3V2=90v2
©~a=90




® V2-1

(V1I0-3v5)V5  v50-15
V55 5
5v2-15

V2-3




® 4-2v2




ke A AA ] BA ] Zolo] e ,

O 12V3 +8V7 (@)12\/6+8\/7 ST
® 28V6+3V5 @ 28V6+8VT
® 28v6 + 95 i ’

S5
mAEe] do]o] g2
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a(3x - 2y) + b(2y - 3x)

@D a(x-2y) - 3b(x—2y)
® a(2x - 3y) - b(3y - 2x)

® 2x(a-2b) - 3y(2b - a)
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O (a - 3b)(x—2y)
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® 4x> +6x+9 @ x%+16
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@ 2 —dx+4=(x-2)?

© x2-Tx+12=(x-3)(x—4)
© ¥ +x-12=(x—4)(x+3)
® x-x-30=(x+5)(x-6)

@ x> +2x-48 = (x—6)(x—8)
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Q@ x-dx+4=(x-2)2 (Q)
©x2-Tx+12=(x-3)(x-4) (O)
©xF+x-12=(x+4)(x-3) (X)
@ 2 —x—30 = (x+5)(x—6) (O)
@ x? +2x—48 = (x - 6)(x + 8) (x

)




x=2>009]2, x-5<0°|BE2
(FA)=x-2-(x-5)=3




12. 720 ©] B4k FE% She 7V 2 AQ% 0 9 3 Fotolet.

» =
DAY n=2

V72n = V23 x 32 x nO| A £Q152] A7t BE #a=7] B ofof
StE R p =2 o]th




13, \/(4-2V8) - \/(3V3-4) & nreta] spoiet,

vV V
0

(L L
o

|

o

S

2V3=V12<4= V16 < V27T =33 0]|B &

V(4-2v3)" - /(3v3-4)"
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3.0 | 1,732 1,735 1,738 1,741

3.1 ] 1,761 1,764 | 1.766 1.769

3.2 | 1,789 1,792 1,794 1,797

3.3 | 1.817 1,819 1,822 1,825

3.4 | 1.844 1,847 1.849 1.852
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@ x2-25=(x+5)(x-5)

@ x?+2x-8=(x+4)(x-2)
® 2x2 +7x+3=(2x+1)(x+3)
@4x2+4x—15:(x—3)(4x+5)

® x?-14x+49= (x-7)?

@ 4x% + 4x - 15 = (2x - 3)(2x + 5)
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6x> +5x—a=2x+b)Bx+7) 7t HHS W, a - b 9] F2?

® -24 @ -18 ® -10 @ 18 ®)24
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6x2 +5x—a= (2x+b)(3x+7)
= 6x% + 14x + 3bx + 7b
=6x%+ (14 +3b)x + 7
144+3b=5, Tb=—-a,b=-3,a=21
ca-b=21-(-3)=24
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® (ax+b)(cx+d) @ (a+b)(a-b)
® (x+a)(x-b)

2012 = (200 + 1)2 = 40000 + 400 + 1 = 40401
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@<x+y—5)(x+y+4) @ (x+y-4)(x+y+5)
® (x+y-5)(x+y-—4) @ (x-y-4)(x—y+5)

® (x-y-5)(x—y+4)
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x+y=A 2l s}
(x4+y)(x+y-1)-20=A(A-1)-20
=A2-A-20
= (A-5)(A+4)
= (x+y-5)(x+y+4)
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ab+5a—-4b—-30=0
a(b+5)—4(b+5) +20-30 =0
(a-4)(b+5)-10=0
(a-4)(b+5) =10
a>0,b>0°22 p4+5>5
a-4=1,b+5=10
La=b=5
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® (a+b-c-1)(a-b-c+1)
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a®—b®—c? +2a+ 2bc+ 1
=a®+2a+1- (b*-2bc +?)
=(@+1)?-(b-0¢)°
=(a+1+b-c)la+1-b+c)
=(a+b-c+1)(a=b+c+1)




